Test Booklet No.
vt s | M
Paper-III

COMMERCE

Signature and Name of Invigilator Seat No.
1. (Signature) ......ccccceeeeeeevveeeeeeeeciieenn. (In figures as in Admit Card)
(NAME) ..o SEALNO. ..ot
2. (Signature) ........cccceeevevevrenneenrenennn. (In words)
(NAME) ..ot OMR Sheet No.
DEC -50313 (To be filled by the Candidate)
Time Allowed : 2%2 Hours] [Maximum Marks : 150
Number of Pages in this Booklet : 36 Number of Questions in this Booklet : 75
Instructions for the Candidates Teremeatard wewemeH Forr
1. Writge y;)ur Sfetsﬂ;.No. and OMR Sheet No. in the space provided 1. uftenef= sTaen ST HiE A W I 91 Toreran.
on the top of this page. T AT feeren IRt i @rEe e,
2. This paper consists of 75 objective type questions. Each question
will carry two marks. All questions of Paper-IIT will be compulsory, 2. T YR 75 SgUAE YT STR. Y YA g 07
covering entire syllabus (including all electives, without options). 3. I Gy die e g9 Srefa 1fard o1, 9e@ a9
3. At the commencement of examination, the question booklet %mﬁww STITEHATE TR 3;‘1%3
will be given to the student. In the first 5 minutes, you are £ f Forep fereht =T
requested to open the booklet and compulsorily examine it as 3. et ﬂ'{& EIS { - g 5
follows : Tofieimed STl X FRTaTeh! SIS Weiiel arell STere T
@) To have access to the Question Booklet, tear off the EREIGA
paper seal on the edge of this cover page. Do not accept @ YTITTeRT SHSTATETS! YTafeheoR eaeiel Hiel Suee.
a booklet without sticker-seal or open booklet. ol for o fi
(i1) Tally the number of pages and number of questions Bl dia EESKIEES 3.
in the booklet with the information printed on the G)  OfEeHT UESTeR TS SheaTHHTOT Yg-ufrehell TRt Uss
covet.page. Faultyt!)ooklets dl:e (tlo missin.g pagt'es{ a’@agﬁqﬁ-@@ﬁa Wwwm
questions or questions repeated or not in serial FUT ITEE, w 9T ST WW
order or any other discrepancy should not be ‘3'% .
accepted and correct booklet should be obtained T T fohd B @ qer m m
from the invigilator within the period of 5 minutes. qeaTdre 5 e ueaeTehRten W o5 gedt
Afterwards, neither the Question Booklet will be RELIECT] WA ST, AT J9TUlTehT EEG]
replaced nor any extra time will be given. The same Firggum a@aé&‘é’r firggume T
may please be noted. 711@ . T 7113'1‘ ?
(Tii) After this verification is over, the OMR Sheet Number forameat-it :ﬁ_‘{ Wliﬁ' .
should be entered on this Test Booklet. Gii) ~ FGAYHO & TSdiegd Gfeeamaty gyAuTR AT
4. Each question has four alternative responses marked (A), (B), 7). TH. 3. ITAfSreh=n o fereran.

(C) and (D). You have to darken the.cu'cle as indicated below on 4 TR TITETS (A), (B), (O) 7IfoT (D) aTeh =R faed IR feeht

the correct response against each item

Example : where (C) is the correct response. . el A ST AT et SRifaearyw o Sesshaul
ONON NO o
I, ¢ SR (C) T AT IW 3HA W

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place @ . @

6 gher ?han in the cu‘c.le in .the' OMR Sheet, it will not be evaluated. 5. o TR e e SR aﬁ‘@ TR, mm

. ead instructions given inside carefully. WWWWWW?@H

7. Rough Work is to be done at the end of this booklet. :

8. If you write your Name, Seat Number, Phone Number or put 6. Sl 55 & E%?_ EWW IRUSLRISE
any mark on any part of the OMR Sheet, except for the space 7. ERSRIECO S A YA e HH FHE,
allotted for the relevant entries, which may disclose your 8. SR 3997 3. TH.3R. W?’E@ﬁwmwﬁiﬂ?ﬁwaﬁ%ﬁ
identity, or use abusive language or employ any other unfair AT, ATHA shHTh, T FeR fohan 3iiea ueet 131 hIvKie! ?;
means, you will render yourself liable to disqualification. Eﬁﬁ?ﬁﬁ 3MEeg AT I 3TH o= Wﬁlﬁngﬁ'{

9. You have to return original OMR Sheet to the invigilator at the CCRE] W Terementen ey aTarst v I
end of the examination compulsorily and must not carry it with 9. TRIeT T faRneaiy Hes 1. TH. 3R, STUfeh Tdaeihihe
you outside the Examination Hall. You are, however, allowed T 0] STTERTeh 3718, g, FYafsrent o 3110, 3T, Safsehat
to carry the Test Booklet and duplicate copy of OMR Sheet on fg?ﬁ'q TT STTTERIER ﬁm:lm Tt TET T
conclusion of examination. 3

10. Use only Blue/Black Ball point pen. 10. W g feha e sy AT HITET,

11. Use of any calculator or log table, etc., is prohibited. 11. W FeRa i oret STuRuATE Wearrit Tﬂﬁ

12. There is no negative marking for incorrect answers. 12. W IS 0T shuTd ThHelt ST AT,




DEC - 50313/111



DEC - 50313/111

COMMERCE

Paper III

TSy

ouerent 111

Time Allowed : 2% Hours]

Note : This Paper contains Seventy Five (75) multiple choice questions, each
question carrying Two (2) marks. Attempt All questions.

AT : A1 YeUIehd TR eee’ (75) sguaell yed fooiel ofed. Udish U9l &M (2)
0 . W Y gred.

[Maximum Marks : 150

1. Match the pairs and select the
correct answer from the codes given
below :

(@)
(b)

(c)
(d)

@)
(i1)
(iit)

(iv)

List I
Resource availability

Status of technological
Advancement

Regulatory Framework
Values and Ethics of People
List II
Technological Environment
Legal Environment
Cultural Environment

Natural Environment

Codes :

(A)
(B)
(®))
(D)

@ @) © @
@ @ @ @)
@) @ @) @)
@ @ @) ()
@) @) @) @

N e N

Siea S[ed 30T wett feeiean Higdrgd

fea T et
w1

(@) FEEAE U

(b) IR TTAET TSI

() frames e

(d) GHSTE qod 9 e
w11

() difh gEferY

(i) SuTfeh qAtER

(iti) WERfTR A

(iv) EfTR qafaR

wgar :

(@ b)) () (@

A) @) @ @) G

B) @) @ Gv) @)

C) @ @) @G (o)

D) G@v) @) G @

[P.T.O.



The external stakeholders of

business include :

(A) Politicians, social activist,

shareholders, dealers

(B) Govt. organisations, NGO,

Dealers and Suppliers

(C) Bankers, Suppliers, Investors,

Dealers

(D) Dealers, Bankers, Investors,

Consultants

Which of the following agency
enables the company as well as the
public to evaluate the social

performance of the company ?
(A) Performance Audit

(B) Social Audit

(C) Social Accounting

(D) Social Evaluatory Audit

................................. is a social
movement seeking to augment the
rights and powers of the buyers in

relation to sellers.

(A) Consumer protection
(B) Consumerism

(C) Consumer activism

(D) Consumer empowerment
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Which of the following is not
a basic objective of a public

enterprise ?

(A) To redistribute of income and

wealth
(B) Import substitution

(C) To earn return on investment

of government funds

(D) To protect natural and social

environment

Which one of the following
accounting treatment is correct,
when old machinery is purchased for
% 76,400 and rings and pistons of the
old machine were changed to get fuel

efficiency, worth ¥ 3,600.

(A) Capital expenditure T 76,400
and Revenue Expenditure
% 3,600

(B) Capital Expenditure I 76,400
and Deferred
Expenditure ¥ 3,600

Revenue

(C) Capital Expenditure I 80,000

(D) Deferred Revenue Expenditure
% 80,000
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i IUFHATD YEAdHh! HIT

T SEe T ?

(A) S 9 HUIA AR ol

(B) 3T™d TRl

(C) ekt fHeftea T[derhter dreren

frreaferr

(D) 9k o HHITSh AT TI&0]
Exu|

A TR T 76,400 THEE BRET
Sl oTdd AU AT S HAHRIH
&rra THesfauarandt = FsremgEi=n fam

0T FR T 3,600 T3 IgaTedl ST

W AT &= ARRATEE! JEietish! T

Tgd Se 3T

(A) wiEgaet @ T 76,400 0T Heget
@I T 3,600

(B) Wiedelt @d T 76,400 30T Yeifera
weygell @9 ¥ 3,600
(C) wWiedell @9 T 80,000

(D) Weifod Wegelt @9 I 80,000
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Match the following phrases with
the descriptions of the accounting
processing cycle and choose the
correct answer from the codes given
below :

List I

(Phrases)
(@) Transaction Analysis
(b) Trial Balance
(¢) Financial Statement
(d) Posting

List II

(Descriptions)

(z) Income statement and position
statement

(ti)) A chronological record is
prepared that reflects the
economic effects of each
transaction

(7iz) Transfer of amount for each
account affected by the
transaction, results in a
reclassification of the data

(fv) A listing of each account and
its debit or crediting ending
balance

Codes :

(@ ®) (@ ()
(A) @) Gv) G @)
B) Gv) @ @) @)
(C) @) @) Gv) @)
D) @ G @O @)
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Responsibility Accounting is
one of the basic components of a

g00d ....evvreiiiieen, .

(A) Plan

(B) Control system

(C) Incentive scheme

(D) Motivating instrument

The entity postulate ....................... .

(A) refers to the name of the
company required in the

heading of the balance-sheet

(B) refers to the owners of the
entity, who must account for
their interest in the entity in

their personal holdings

(C) indicates that the accounting
unit on which the financial
reports are based is the
business itself, separate from its

owners

(D) holds that the business is made

up of many separate
components that are accounted
for separately but reported
collectively in the financial

statements

9.
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10.

11.

12.

13.

In Break-even Chart, the Break-
even point is the intersection of the
following two lines :

(A) Variable Cost Line and Fixed
Cost Line

(B) Total Cost Line and Sales
Line

(C) Sales Line and Marginal Cost
Line

(D) Fixed Cost Line and Sales
Line

Business Economics is :

(A) Applied Economics

(B) Only Static Economics
(C) Only Financial Economics
(D) Only Dynamic Economics

Risk and Uncertainty theory of
Profit was developed by :

(A) Marshall and Pigou
(B) Hawley and Knight
(C) J.B. Clark and J. Schumpeter
(D) McNair and Meriam

The income elasticity of demand for
inferior goods is :

(A) Negative
(B) Positive
(C) Zero

(D) Unitary

10.

11.

12.

13.
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=1 AR A1 AT erend A1 Tw-drel fog.
RN YEid qF I 8RB

(A) SEeIdT aReT [ enfor fer gReq
G|

(B) WUl Ui @ smfur fosht 3en
(C) fost Y@ sufor fauia wfem Yen
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(A) 3T SAefeme

(B) hde feer s7efvmed

(C) oo fafqa stefemes

(D) hdles TAHM ST

TR EieRT 3T TfAfy=raan fagia wront
foefad senm ?

(A) wrta ewfor fiy

(B) & emfr e

(C) A=, Fameh omfor 1. yEdeX
(D) Herrax wfor A

e axg= AnToi=t 3= Safaehdl
S 3 ?

(A) RUMHS

(B) 41cHh

(C) ;=
(D) T




14.

15.

16.

For the
P = 1000 - 4q, the marginal revenue

demand equation

equation is :

(A) 1000 — 4¢>
(B) 1000g — 8¢>
(C) 1000g — 8¢
(D) - 8¢

The law of equi-marginal utility
states that :

(A) MU,_P, = MU, P, = MU, P

V4 V4
MU MU MU
B) Px>Py>PZ>MUm
x y z
MU MU MU
©) Px<Py<PZ<MUm
x y z
MU, MUy MU,
™5 ~p -~ p - MU
x y z
The difference between the

population parameter and its
estimate based on sample is called

AS ceeereereeeee e .
(A) Human error

(B) Population error
(C) Sampling error

(D) Non-sampling error

14.

15.

16.
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P = 1000 — 4g 31 HFTOT HHRION-

AT THT 39— THIHLUT hIvTd

Iqd ?

(A) 1000 — 4¢>

(B) 1000g — 8¢>
(C) 1000q — 8¢

(D) — 8¢

W o

gaEH YR 9| =uS S
T WATcIUeh! IV HHIHIUMER HITdl
I5A ?

(A) MU,_P, = MU,.P, = MU, P

2Tz

MU

B) Pxx > Pyy > P: > MU,
©) M;jx <M;jy <M;jz < MU,
D) M;j’“ =M;jy =M1§Z = MU,
qufse gr=d 9 AT IS A
S S

(A) Tt S

(B) wHfte S

(C) 91 T

(D) FHAR T

[P.T.O.



17.

18.

If each observation is doubled,
then the coefficient variation

WL ool .
(A) not be changed
(B) be doubled

(C) be decreased to half of the

original
(D) be increased by 2

The regression lines are given by

3
=—y-3
X 2y
5
= —x+2
y 3 )

then the correlation coefficient

between x and y is .........cc........ .

(A) \/%
(B) \/%
©) \/%
(D) \E

17.

18.
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~

R gk e gue ohal, W

=

3

- 2y_3
5

= —x+2
Y73

® x oMy AT HEHSH U

(A) \/%
(B) \/%
©) \/%
(D) \E
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19. A sample of 100 observations

from normal distribution with mean
u and variance 9, has mean 4.7.

The value of test statistic to test

DEC - 50313/111

19. THT 984 p o GO 9 STHU=AT

JEHT fIaRomA Hdetedn 100 e

THAE B 4.7 A6 R Hy: =5

I1 afiheud=ar ®EIETE AHAIED

Hp: U =51 i, A 3Te.
A 1 A) 1
(B) 3.75 (B) 3.75
(C) -1 (C) -1
(D) —28.75 (D) —28.75
1 3 1 3 f
PA A B) = o, then PA U B) PA N B = 75, @A U B
A1
() A) 1
®) + )
3 -
(B) 3
11
C) —= 11
12 ©) 15
10 10
(D) 19 (D) 12
11 [P.T.O.



21.

22.

(I) A manager’s job is vital to
the society as it determines
whether our social institution
serve well or not.

(II) It is essential to study the
different parts of managerial
role as it decides the type and
nature of performance of an

organisation.

Based on the above two
statements following four
conclusions are derived, identify
which one is appropriate :

(A) A manager performs useful
work
(B) Social and organisational

depends on the

performance of manager

success

(C) Manager do what people expect

them to do

(D) Different organisations require
different types of managerial

role

Which of the following is an essential
ability of a team leader ?

(A) Clarify goals and tasks and

gather ideas for improvement
(B)
(C)
(D)

Work out a good scheme
Identify faults in the scheme

Eliminate the obstacles in the
planning process

21.

22.

DEC - 50313/111

(I) HTEATHRTS T & FHTSTRU

HEweld A8 RV AT 3Tqed]
TSI AT &1 AT YR &

Hdd e A€ § gdid 2.

(I1) STeRAIRT fHehi=n e aTS
AY AR ARG HNO AT
THA=AT RN/ g qTaTl
TR 9 @Wey food.

e S faumer =R fewd fooesn o1e.
3t waE SfesEn

(A)

FIEATh TP HE !

grifss 9 g9ed™w I3 ®
HALATIHRAT HHNRIGR ST

TG
Tk STULTTHTO! SHERATTeh 1Y hid]

fafayr TeearT STETesa YR

(B)

(©)

(D)

I fHehT=l  SATaTHR I

T

GUTIHETHS  Teiadsl  H1ordd
Hd/ AT ST AR 3R 2

(A) @& 9 QU KA HH A
YR HOATAS! FehodATd Fehotd

(B) =Ml A= ARG
(C) Irsdiel T ened

o o

(D) FrESH gfsrddial sTeees T KU

12
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23, e is the function of a | 23. "~ ? WIEI@! GEe
line manager. HATITHRT™ DA 3R,
(A) Use special technical expertise (A) Hool 9 UISdes SUAETS Ta9Iy difsieh
to advice and support T/ I ST
(B) To act as a manager in public (B) wrasifAsr far =1 w1 A1 e
or non-profit organisation YA I 9h WU hTH
(C) To be responsible for complex ETu]
multifunctional units (C) faorse wg=wTafcas faumr=ar
(D) Directly contribute to the HETES! SRR 3TH0
prod'uctlon of basic goods and (D) @V o] & Tare SaEA e
services A
24. The four irilportant functions of 94, HELATT UFFEITE =R TeEr w1
management process are ........... . N o . .
sement , (A) TrasE, fresm, d9ea onfon Age
(A) Planning, Controlling, fy n n e
Organising and Leading B) fm SF, GHIGU/ AT,
) : siereIasen, ol =0
(B) Planning, Scheduling, N .
Budgeting, Decision-making (C) TS, AT, frcr enfor <
(C) Planning, Motivating, Directing K -
and Performance appraisal (D) mﬁnﬁ/d”@*" FeqT ffeT,
(D) Scheduling, Idea generation, . \i T l.” l. i cl hl L.
Controlling and Organising 25. HE=AT TTS-9Yidled |H°§|d|"|€ﬁa
25. Arrange the needs as per Maslow’s SUKISIEL LR
need hierarchy in correct order : (A) |MHEISR TS — G &Tadriasraes
(A) Social needs—Safety needs— TS — STTCHEHTAT ST TS —
Esteem needs—Psychological HIASRNIATS Rl
needs (B) gIfaraarfasiash TTST—
(B) Safety needs—Esteem needs—Self STHAATTTT TSI —
atelsstin needs— SHIcCHT eh <l eh {UT ¥ deh ST —
Psychological needs qHEEMES T TR
(C) Psychological needs—Social (C) HTAEIMSNT  TST— Q1S
needs—Esteem needs—Self TS — STCHEHAT SR TS —
actualisation needs SR I TSI TSI
(D) Social needs—Psychological (D) graTfeis TS — AT
needs—Esteem needs—Self TS — STCHIHATATI SIS TS
actualisation needs — ST h OISk TSIl
13 [P.T.O.



26.

27.

The term ‘marketing’ refers to :

(A) New product concepts and

improvements

(B) Advertising and promotion

activities

(C) A philosophy that stresses

customer value and satisfaction
(D) Planning sales campaign

The term “marketing mix”

describes :

(A) A composite analysis of all
environmental factors inside

and outside the firm

(B) A series of business decisions

that aid in selling a product

(C) A relationship between a firm’s
marketing strengths and its

business weaknesses

(D) A blending of four strategic
elements to satisfy specific

target markets

26.

27.
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(A) -TORARA Fehoddl o FHRON
(B) Sifedd HagH/sm

(C) TEsh Hod AU HHIM IR X

IR T

(D) fawma U= faeH

foraue st g dehedm gEial Sl Ui

A ?

(A) TEAT 3T T T TSI

(B) 3c41eA forshien Her=AYd SO
et ot g
(C) Txa= faqurafasras  sTedeeres

aifor o= =reEnaes HHaLdl e

Ty

(D) IR FelaHcHsh HHhia fafirse
AT fgd  ATIAST HHTET

HOIERY Ty

14



28.

29.

30.

Why do business spend a large

amount on advertising and

promotion when the product is in its
introduction stage ?

(A) Because that is the time when
the product is very profitable

(B) To ensure customers have the
correct information about the

product

(C) So that it can save the money
for advertising at all the other
stages of the life cycle

(D) To ensure that potential
customers become aware of the

new product

The concept of “Marketing Myopia”
was introduced by :

(A) E.J. McCarthy
(B) Theodore Levitt
(C) Philip Kotler
(D) W.J. Stanton

Which one of the following is an

example of non-store retailing ?
(A) Limited Line stores

(B) Super Markets

(C) Tele Marketing

(D) Discount stores

28.

29.

30.
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SZIHAER Seld o adafaages -
faeiier S WA & T ol Sd 2

(A) HRU I HIAEHT SAEH TR
A feudid ST d

(B) Ul IcUGAT&ed I d  Hifgdl
I W SRl

(C) 3T SIT=shI=aT Al STIRITHEN
STfeurdtar a1 ST 'Y
AU 3R
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ifedt 9T & A1 Hikdl
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(A) 3. . wehreff

(B) fasier wi=kie

(C) freflg =hleer

(D) &Y. S VA

(a) [aY LY
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3R KU ?

(A) wIifgd [ 9iEr

(B) favmar Uess wWieEr

(C) et faqum

(D) Gaad HreR
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31.

32.

33.

Which of the following is not an
assumption of the MM theory for

irrelevance of dividends ?
(A) Irrational investors

(B) No tax discrimination on capital

gains and dividends
(C) No transaction costs
(D) No flotation costs

The only viable goal of financial

management is ........cccceevvvvevennnns .
(A) Profit maximization

(B) Wealth maximization

(C) Sales maximization

(D) Assets maximization

According to ........cccceeeveeveennnns , cost of

capital is the minimum required
rate of earnings or the cut-off rate

of capital expenditure.

(A) Hunt, William and Donaldson
(B) James C Van Horne

(C) Soloman Ezra

(D) Hampton, John

31.

32.

33.
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ETATedsh! IV T[EIdeh  ATHIEIT=A]
srgagd=a MM fagrarft ffed w2

o N A

(A) AT [ATUhR

(B) Wigacil oY o oviImdeyidia
ERCHECICS LI C]

(C) agR Ulegd Al
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34. A motive for holding cash/near- | 34. 3% Td AFfaUAEEd foenr @
cash as a cushion to meet TR AR T’f FIOGTETS HATHR
contingencies/demand for cash, is U T fehel ICrGYa Sfefes Ses o=
termed as ........ccoceeveveneene. . g FRUIdId.

(A) Precautionary motive (A) G %1
(B) Transaction motive (B) == %?'L
(C) Speculative motive ©) E &
(D) Compensating motive D E %?‘L
35. The data requirement for .................... 35. T = @ g
........................... Fﬂ' W eﬂ_g.u.n_ﬁ
are after tax cash outflows and cash
. Hfedt 2.
inflows.
(A) U@ Yerg ferero
(A) Cash flow statement
(B) et ware ferer
(B) Fund flow statement ) )
(C) Hiedell SRSYH
(C) Capital budgeting _ .
(D) <dl<eh 3AQSIAh
(D) Flexible budgeting . . .
36. J&Id AFTUR! IOl AF g
36. Job analysis can be performed in all Tl B W% TR ?
of the following ways, except : NN . .
(A) AR G ST SHAT-ATA
(A) Interviews conducted with et
departing employees B) e @S fawe
(B) Analysing log books (C) TR TETIER HRERd HHARN
(C) Observing hourly workers friem
(D) Giving workers checklist to (D) wH=r=ar fafyse &l @
indicate which tasks on the list w1t fafayg s  (HERRD)
are performed during the job e oo HEYE <0
17 [P.T.O.



37.

38.

39.

Under the Factories Act no worker
is permitted to work for more than
............................ hours in a day.
(A) 8

B) 9

(C) 10

(D) 24

Which method of performance
appraisal makes use of critical

incidents to prepare rating scales ?
(A) Assessment centre

(B) Peer appraisal

(C) Self appraisal

(D) BARS

A progressive system of discipline

does not include this :
(A) Warning
(B) Discharge
(C) Slowdown

(D) Suspension

37.

38.

39.

DEC - 50313/111

il (FREM) HEATTER DI
HTTRICT SXfeasi
TAETIT S hTH L0 I

.

(A) 8
(B) 9
(C) 10
(D) 24

o= Jeadrad gAY e svamre!
R YA IV Tgdld e

TS SYANT shell SAl 2

(A) JoIHOH &%

(B) HEHRAGR HoIHIA

(C) & HeIHmaH
(D) s (BARS)

T Wdieie 9gdid @ JHIfase gid

&

(A) diferg
(B) Herardt
(C) wed
(D) fieted
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40. Who introduced the concept of | 40. TUET dgeer=l Heheudl WRA FHOM
quality circles in India ? ST ?
(A) P.V. Rao (A) T @
(B) Udai Pareek (B) 3¢d U@
(C) Dharani P. Sinha (C) =Xofl b1, fa=
(D) S.R. Udpa (D) TH.3R. 3I&Ul
41. Which one of the following is likely | 41. Ifdha INEEYITER A@ HITATHTS!
to help in remedying an adverse ETeteTdeh! HIT SUTIASAT AT
balance of payment ? e ?
(A) Revaluation of currency (A) tl,ﬁt\{ gﬂl;l:c'%li*'-l
(B) Devaluation of currency (B) Hod 3TeHeaH
(C) Reduction in income taxes (C) 3IRTd h4rd
(D) Reduction in excise duty (D) STE&HR geshId R YTd
42. Balance of payment is an application | 42. SR g oo N I
OF oo eeeeeeeea . YIS 3TE.
(A) Single entry book-keeping (A) AR REEICE TGl
(B) Double entry book-keeping (B) fgiic g&ded gsdl
(C) Either (A) or (B) (C) (A) fker (B) T
(D) Neither (A) nor (B) (D) (A) fwar (B) =
19 [P.T.O.



43.

44.

45.

Absolute Cost Advantage Theory

was propounded by ....................... .
(A) Adam Smith

(B) Ricardo

(C) Malthus

(D) Marshall

Globalisation of financial services is

being promoted by :

(A) World Trade Organisation

(B) International Finance
Corporation

(C) International Bank for
Reconstruction and
Development

(D) International Monetary Fund

In which year was the EXIM Bank
established ?

(A) 1983
(B) 1984
(C) 1982

(D) 1985

44.

45.
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o o o .

(LRI GTT <H IHoSIdlti’] ch Yyl
.............................. T

(A) 3fen fog

(B) ferrel

(C) wieYgd

(D) i

TSI

ENREEIERNIGEIETY

geIfdd shel S

(A) Sfdeh SATIR el

(B) 3TaWrdtd foxita Hemieas

(C) Smifaeh gR= a fowm sAfyen
(D) ST A

EXIM (TfH=) So=l YT hive
oo Felt 2

(A) 1983
(B) 1984
(C) 1982

(D) 1985
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46. Comparative cost advantage | 46. ST ARG qoAHE AT
proposition in international trade faga oo TJit "IEl
was propounded by : 3R,

(A) Adam Smith (A) 3feH Ty
(B) D. Ricardo (B) efes el
(C) J.A. Frankel (C) S.U. Thehd
(D) J.M. Fleming (D) J.TH. TATHT

47. The item labelled ‘interest, profit | 47 =grv, Fw1 sufor @yt = 9=
and dividends’ 1is included ST Y2l Yol SHUR INeAE-
in Balance Of Payments as an entry W g‘a.q:ﬁa. .............................. a@m
OF woeeeeeeeeeeeeereenn ) et ST
(A) Capital Account (A) ISdc] ol
(B) Financial Account (B) fo<ita oe@n
(C) Current Account Visibles (C) T =Te] ol
(D) Current Account invisibles (D) 3| =g =LCl

48. Which of the following is not an | 48 i@@?}qﬂ AN GRS 5«|iq{ub§'\|q for=
international financial institution ? T T ?

(A) UNESCO (A) FTEh

(B) IMF (B) STAWISd ATor=eft

(C) IDA (C) ARSI fashrg ween

(D) IBRD (D) AT Giam 9 faxitg sAfeenrs
21 [P.T.O.



49.

50.

51.

When one country has lower
opportunity cost of producing a good

or service than others it is ........... .
(A) Comparative advantage

(B) Competitive advantage

(C) Advantage of situation

(D) Policy advantage

A ban on trade in a particular
commodity with a particular country

iscalled .....ccoooveeriiinieanen. .
(A) Protection

(B) Embargo

(C) Dumping

(D) Trade treaty

Which of the Accounting Standard
(AS) has been withdrawn and

merged with another Accounting

Standard in 2003 by ICAI ?
(A) AS 11
(B) AS 8
(C) AS 7

(D) AS 3

49.

50.

51.

DEC - 50313/I11
Segl TETET QIMAT TE-AT 9M=AT
qora o fohar Fen fAfHdtardt deit
AT Ay Sdr ddl deel ™

(A) JoicHsh SEcl

(B) TYicHS AT
(C) gRfd=n ®Een
(D) RO ®Ie]

Teh1 fafyrse <omed, faftre @A
Teuid Yfdee STeTvar=an e & SR

(A) &I
(B) SR TqEha

(C) SaqsH
(D) HFMUR d8

GATTUeh! ShIUd @ik HHEe  (AS)
TS A T Ahe=wey Ah
sfea™ W B9 SO i@l WM

2003 9T gHIfIR Hed 3TME ?
(A) AS 11

(B) AS 8
(C) AS 7

(D) AS 3
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52.

53.

54.

‘Social Accounting’ is concerned
with the measurement and discloser

of :

(A) Efforts to abolish caste system

(B) Cost and benefits to the society
as a result of the activities of

the business enterprise

(C) Attempts to seek welfare of
employees
(D) Donation to political parties

Exit Route of Venture capital is :
(A) Going public

(B) Upgrading the activities

(C) Further investment

(D) Diversion

Equity investment in high risk,
hi-tech and high potential proposal

is known as :

(A) Sweat equity capital
(B) Maiden equity capital
(C) Venture equity capital

(D) Promotor equity capital

52.

53.

54.
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‘TSR TiETeh | § Weiicideh! Shivre

(al

T HISTHIOT o Yohe sk LMY Heleitd

e ?
(A) Sl SHeEI= I YT

(B) AEHIIS: AT HIHBISTHD
TSI BT oY ST =2

[aY

(C) HHAR HATIMHET

(D) TSThig U QURN

S T

el WAl ael qeuar=n |

(A) SHdH wrTfasht
(B) hTHehTST YR

(C) déid T[aaveh

(D) TEHE <Rl

3=d S, ST 9o o Ssad Yfaded

ST YehedTd HTHI SR qaueh e

(A) AR 9MHT 9FT 9ieda

(B) 99Hd:9 faoal SR 9HEMT YW
e

(C) gl WM 9F Wiead

(D) Yadeh= HMHMRT 9T vigdd

23
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55. The following estimations are given | 55 w1 G fafyrs yEEeR @i e

by a firm for specific proposals : JaTS e ?
Degree of Expected
8" P SEHe garor | emafard e
Risk Return

Y 24%
Low 24%
Medium Low 28% HEAH S 28%
Medium 33% Ty 33%
Medium High 39% gy 3=9 39%
High 42% S 19%

The firm has the following proposals

TEIhe Welld J&e 3Rd ?

with it :
High Risk Expected Rate | 3% BlclESIC Jufer WA =%
Proposal of Return & A 39%
Proposal A 39% e G| 379
Proposal B 37%

Teqq Sited g g
Medium Risk Proposal

Proposal C 34%

J&a h 34%

Low Risk Proposal e Sifed e

Proposal D 22% EASIEIS] 22%
Which of the above proposal can be SRIcTUeh! <hIOTdl F&dTe T fasrret 2
accepted by the firm ?
(A) 9hcT A
(A) Project A
. (B) 9hed o
(B) Project B
(C) YeheU =

(C) Project C
(D) Project D (D) 99 ©
24




56.

57.

58.

Which of the following is not a tool

of sales promotion ?

(A) Sales contests

(B) Point of purchase display
(C) Public relation

(D) Free gifts

means charging

fairly low price for high quality

offering to win loyal consumers.
(A) Value Pricing

(B) Perceived Pricing

(C) Make-up Pricing

(D) Target-return Pricing

Which one of the following is not

related to business ethics ?

(A) Social responsibility of business

(B) Environmental ethics

(C) Development of Organisational

culture

(D) Ecological consciousness

56.

57.

58.
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qEedsh! HIv

T ?
(A) fowma wyf

EERRELEICEGE]

(B) ©E &l v

(C) SHEIh
(D) HTeq

fsera™ Jusiea fS&var=a gqd

SOIQR. %] H! fRmdiat 3qcred e

U U

(A) Jeafusda fermd

(B) e a9 fowd
(C) stfraftema forma
(D) AeATfers3a qiaren fehud

RISkl HIURT oTd AT Fren
ol e ?

(A) TTEEE HMHISS SIfId

(B) waterufta et

[al

(C) TeeA F&pdra faehdH

(D) Y-TM&E HSETe
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60.

61.

is quoted as saying

that “everyone lives by selling

something”.

(A) Bill Gates

(B) Robert Louis Stevenson
(C) Arthur Miller

(D) Henry Ford

The way in which the product is
developed to meet the customers

need refers to :

(A) New product concept and
improvements

(B) Selling

(C) Advertising and promotion

(D) Place and  distribution
activities

is a method of

evaluation of quantitative and
qualitative aspects of work done by

the employee.

(A) Merit rating

(B) Quality assessment
(C) Performance appraisal

(D) Work appraisal

59.

60.

61.
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o)

“gIRIuT BT hTea
A’ § faum
R,

(A) foa e

(B) e g8 fesgTam
(C) 3R fHer

(D) & wE

CENERSUR

qTEehT=AT TS qU Sh0gEedt Tl

3eT S YR 3Ty hed oot S

[2IES -

(A) ToF 3IURA Hehed l 9 FUR
(B) fasnt

(C) Shfexa offor fasea g5t foram
(D) T o foqeor fowan

FHIIN DA HETE T&AHE: 9

TUIcHeh A9 Shivar=l Tgdl FaurS

(A) TOMEMEE  (TOTEAT TOE)

(B) TS HeIHTYA
(C) M JeaHd=
(D) *E FIEIA
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62. Off the job tranining does not | 62. FHEI@ERIA JRI&OMG Fayd B
include : ATEr
(A) Role Playing (A) yfFe sfamr
(B) Lecture Method (B) =& U5
(©) Coaching (©) et ()
(D) Conference or discussion D) f e =t
63. Which one of the following is not the NN . -
63. WIATTYh! IV Sfgiid HeArerd=n &g
purpose of exit interview ? .
far seo & ?
(A) To try to uncover the real
(A) FHAFIH TR ASTIMER TR
reason behind the quitting by
HRU] TN
an employee
(B) SATEe! ARMA HHEH SO
(B) To locate the probable reasons
: wmy w9
that contribute to turnover
, (C) |IEd FMU=a1 HHAATAT AT
(C) To assure the departing
employee of his rights and e a :
benefits R <0
D) To facilitate the quick (D) HHAFATA I HIGT RTAT
termination of an employee gfsha gaAd w0
27 [P.T.O.



64. Match the pairs :

@)
(i1)

List I
Productivity

Employee welfare

(zit) Trend analysis

(iv) Assessment centre

(@)

)

(c)

(d)

List II

Technique that evaluates

employee potential

Efforts to make life worth living

for workmen

Study of firms past employment

needs to predict future needs

Ratio of inputs to output

Consider the factors given in List I

and List II and select appropriate

order of option :

Codes :

@ @) @) Gv)
A) @ @ () )
B) ®) @ (© ()
©) © @ b (@
D) @ &) © (@

DEC - 50313/111

64. Sl Jeodl

T I

(AN

() SIEHAl

(i1)

FHIR HT0

(i) Teorcda’ gefait fargeioon
(iv) HEIITTT &3

(@)

b)

(0)

(d)

i

FHAFAE YW ST I
e

FHTHTNE  STITHT STvIT T

JAfIUIE 9T

T AT dehleiia USIR
TR YR AfasIhiet= TS
S HOA A

et 1 3o geit 11 weftel week foa=mma
Hod garg wEsd faer

Hehel

@ @) @) Gv)
A) (@ (© (@ ®)
B) ®) (@ (© ()
€ © @ b)) (@
D) @ ) © (@
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65.

66.

The most common activities
performed by HR which are

outsourced, are :
(A) Recruitment and selection

(B) Occupational health, payroll,

pensions and training
(C) Human Resource Planning
(D) Assessment Centres

Which of the following is not the

function of WTO ?

(A) To facilitate multilateral trade

agreement

(B) To provide forum for

negotiation

(C) To administer trade policy

review mechanism

(D) To promote global economic

stability

65.

66.

DEC - 50313/111

~

qyes

ST 3TdTid shedll  SITOT=T

gafa g Tdfaefist o

Tdtfael sdd SarETed Ul e

IGIGE

(A) ot o fgeit

(B) SATGEIIS AR, TR g,
ot a9 sufor wfereron

-~

(C) HI=Hes s

(D) G &3

JEicTieh] IV ST SR Gee

I -

(A) dgfaer AMIR HUUAT FLIEH

HLO

(B) dRTEREE ATIS U shied

<0
(C) AR ST AT Sor=a I3
IBRCERCTU

(D) Sifaw snfefs Toafa gadq
HLO
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68.

is defined as

‘substitution of domestic source of

supply’ for foreign source of supply.

(A) Export substitution

(B) Import substitution

(C) Commodity substitution

(D) Trade substitution

Which of the following is not the

mode of foreign direct investment ?

(A) Wholly owned subsidiary

(B) Joint venture

(C) Franchisee

(D) Acquisition

67.

68.
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foreit o= qReISaT=A1 Sl Tieh

Fore QM &= YRS Fd {0 0

A) Trafa wafEie

(B) 3T TRl

(C) o%q TR

(D) YR GATHRIT

qeictush! il ‘9 fageh Taauest=n’

THR T ?

(A) HQUMY HeThi=l TR

(B) 9o 9eH

(C) HEEt

(D) 9ue
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69. Match the pairs and select the

correct answer from the codes given
below :

List I
(@) Multinational Corporation
(b) Subsidiary
(c) Associate
(d) Foreign Affiliate
List II

() Incorporated company in the
host country which holds more
than 50% voting power

(i1) Enterprise in the host country
in which investor owns at least
10% of the voting power

(i17) Investor who is resident of
another country and has lasting
interest in the management

(tv) Corporate enterprises

comprising of parent company
and its foreign affiliate

Codes :

@ b)) © @
A) @) @ @) )
B) @ @) @) Go)
C) @) Gv) @) @
D) @ @) @) Qo)

DEC - 50313/111

SN LTSN

69. SISl Seoa 30 @l foeiedn Higdq

I I} e
w1
(@) TETLE TRHER

(b) THA HUA

(c) YA
(d) faceft Fera
w11
() I IING AU e
d 50% Uen Afus HagH™El
AYFR AR JHS D

(i) FSHM IO HEE STHOL ot
e TdUEReRiSad  10% el
Afyeh HaaMrEn SR 3T

(i) 39=a1 33m=T WeaArdHl AU
TAAUHIIR  SATAT S qAT=AT
SAIEATIATd HTIFEIEYT fea-
Y 31

(v) g% wo 9 foa foosht weres
Il F=Id STHUR HEHED

Hehd :

(@ ®) (@ (@

A) @) @ @) @G

B) @ @ @) (o)

(C) Gir) Gv) @) @)

(D) @ @) Gi) (o)
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70.

71.

When a change in demand and

alters, the basic

supply
circumstances under which earned

or spent abroad is called ........... .
(A) Structural disequilibrium
(B) Technological disequilibrium
(C) Secular disequilibrium

(D) Cyclical disequilibrium

Which of the following income from
land situated in India is an
agricultural income exempt from

income tax ?
(A) Income from Brick Making

(B) Prize from Govt. of
Maharashtra on account of

higher yield of crop

(C) Dividend from a company

engaged in agriculture

(D) Compensation received from
insurance company for loss of

crop due to flood

70.

71.
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S | B B R 2| o G e b 2
fodemd 9@ ol I A hetall

@ AAY JAYd dea Hegd Add,

(A) TS STHIA

(B) difeh STEde

(C) TrelehTei ST

(D) <hIhR THH

IR ST fHesrerel Jeietieh! hiord

3T 3R AT TRIA HL HIE

qE ?

(A) =t AT 3=

(B) HRNISE VMEAMGhEA o= 31y

3T SdeaeEd el d8fg

o~

[HooUIN]

(C) It HIOIAT hUAIh S

[N

AT

(D) THes G-I JhdHIeRe fomT hai-

Fed THeuRl Jhad e
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72. The maximum amount on which

income tax is not chargeable for
AY. 2012-13 in case of Registered

Partnership Firm is :

(A) T 3,00,000

(B) T 2,00,000 of Book profit

(C) % 1,50,000 or % 90% of book

profit whichever is more

DEC - 50313/111

72. T SARNON o 2012-13 =1 Hewld

Ficuftehd HFTQRT LT STFR Icq=r]

Tt e S

(A) ¥ 3,00,000

(B) T 2,00,000 G&Ieh! THITdI

(C) T 1,50,000 foham qdent THIT=

9N% TR S SR A o

(D) T =
(D) ¥ Nil
73. T MR I8 2012-13 IS WcATAdeht
73. Education cess is leviable for A.Y.
= 4u1 = B R £ 1) B e = or | e |
2012-13 in case of :
(A) Individual and HUF (A) = enfor Wyt feg B2
(B) Educational institutions only (B) weri feraqor ween
(C) All assessees (C) ¥d HiE[
(D) Recognised universities (D) "= fagardis
33 [P.T.O.



74.

75.

Senior citizen as per Income Tax
Act means a person who have

attained age of :
(A) 60 years
(B) 62 years
(C) 70 years
(D) 65 years

A Ltd. has incurred for expenditure
on in house research related to

business during P.Y. 2011-12.

%
Land for R&D Building 50,00,000
Building constructed 1,00,00,000
Machinery 2,00,00,000
Total 3,50,00,000

What will be amount of deduction
available u/s 35(2AB) of Income Tax
Act, 1961 for AY. 2012-13 ?

(A) % 35,00,000
(B) T 7,00,00,000
(C) % 6,00,00,000

(D) T 4,50,00,000

74.

75.
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ATEY HEA IS ARSI
............................ T:P:I'f%ﬁ f
Maell 3R
(A) 60 H
(B) 62 ad
(C) 70 =
(D) 65 =

TFETERN gaefia STgaedr siaid
TR A Ltd. ¥ g6 a9 2011-12
T qEAUHl T hell ST

3
eNYd 9 faed SURGET SHHE - 50,00,000
SRAE SEehTH 1,00,00,000
RERCIU] 2,00,00,000
3,50,00,000

SR HIAST, 1961 Tl ®ed 35(2AB)
TAR T RUT I8 2012-13 @t

fHeser ?

S fordt IStae
(A) ¥ 35,00,000

(B) % 7,00,00,000
(C) % 6,00,00,000

(D) T 4,50,00,000
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ROUGH WORK

35 [P.T.O.



DEC - 50313/111

ROUGH WORK
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